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1 point

(1) A

(2) B

(3) C

(4) D

(5) E

1..Directions for Questions 1 to 5: Rearrange the following five sentences (A), (B), (C), (D)
and (E) in the proper sequence to form a paragraph; then answer the questions given below
them. (A) A small wooden nest box is all it has taken to rekindle all the romance of bringing
sparrows and other birds back into our Cities and halt them from fading into the past like a
forgotten folktale. (B) There is something wrong with a city that remains unperturbed even
as its birds desert it. (C) Thankfully, the situation is not as hopeless as it seems. (D) Much as
we try to defend the seemingly irreversible modern life of these cities, we can’t stop our
hearts from crying when we realize that our rapidly degenerating urban eco-system isn’t
generous enough to let these delicate winged creatures build tiny little nests in its nooks
and crannies, sit in solitude, and rear offspring. (E) And this desertion seems to be true with
most metros in India where house sparrows have almost become a thing of tin past.

1. Q1. Which of the following should be the FIRST sentence after rearrangement? *
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(1) E

(2) D

(3) C

(4) B

(5) A

1 point

(1) A

(2) B

(3) C

(4) D

(5) E

1 point

(1) E

(2) D

(3) C

(4) B

(5) A

2. Q2. Which of the following should be the SECOND sentence after rearrangement?

3. Which of the following should be the THIRD sentence after rearrangement? *

4. Which of the following should be the FOURTH sentence after rearrangement? *
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(1) A
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Option 1

5. Which of the following should be the FIFTH sentence after rearrangement? *

2.. Rearrange the following seven sentences (A), (B), (C), (D), (E), (F) and (G) in the proper
sequence to form a meaningful paragraph; then answer the questions given below them.
(A) But seriously, how much would you pay to know what thoughts are swimming around in
someone else’s head?(B) In most fictional movies thus, the idea of reading minds -of seeing
the private intentions of another, and the possibility of intervening in those plans has always
been highly attractive(C) Such fantastical questions have long been the bread and butter of
fiction.(D) Today, more than four centuries since the phrase, “A penny for your thoughts?”
was first recorded, inflationary accounting makes that ancient penny worth more than $40.
(E) The going rate for a “thought” a probe into the thinking of another – was once quite a
bargain.(F) And if you could really know their truthfulness how much more would you pay?
(G) Even with the sliding value of the dollar, this still seems quite a bargain.
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(1) F

(2) D

(3) C
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1 point

(1) A

(2) B

(3) G
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(5) F

1 point

(1) E

(2) G

(3) C

(4) B
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1. Which of the following should be the SECOND sentence after rearrangement? *

2. Which of the following should be the FOURTH sentence after rearrangement? *

3. Which of the following should be the SIXTH sentence after rearrangement? *
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(1) A
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(3) F

(4) D
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1 point

(1) A

(2) B

(3) C

(4) D

(5) E

Option 1

4. Which of the following should be the SEVENTH (Last) sentence after
rearrangement? *

5. Which of the following should be the FIRST sentence after rearrangement? *

Given below are sentences which have been presented in a random order. Arrange the
following sentences in a proper sequence to form a meaningful paragraph and identify the
correct sequence.
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a. ABCDE

b. CBADE

c. DCBAE

d. CDBAE

1 point

a. BCADE

b. CADBE

c. CDBAE

d. ABCDE

A. This is because your witness will be called upon to testify in court if the will is ever
challenged.B. Lawyers advise people to use witnesses who are younger than they and
are likely to outlive them.C. You can make a will as simple as you want. You will need to
sign the document in the presence of two witnesses, who will then have to put the
signature on it.D. It helps if a doctor is a witness or the document is signed in his
presence.E. This is because he could be called upon to testify to the stability of your
mental condition when you drew up the will. *

12. A. For years, the singles competition was judged according to two categories.B.
Secondly, the compulsory - figures category required each skater to perform three or
six repetitions of three figures drawn from a possible 41 patterns.C. Figure skating is
primarily a sport of amateurs, contests are held for singles and for pairs.D. Firstly, the
free - skating category judged a skater’s ability to perform jumps, spins, spirals, and
skating coordinated with music.E. All figures are based on a figure - eight pattern or
variations thereof. *
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a. FDCABE

b. DFCBAE

c. FCBDAE

d. FBCADE

Option 1

13. A. They are the oligarchy.B. Next are the rule takers, the companies that pay
homage to the industrial “lords.”C. IBM, CBS, United Airlines, Sears, Coca – Cola, and
the like are the creators and procreators of industrial orthodoxy.D. First are the rule
makers, the incumbents that built the industry.E. Fujitsu, ABC, US Air, Smith Barney,
J.C. Penny and numerous others are peasants.F. Look at any industry and you will see
three kinds of companies. *

14. Directions (1-5)In the given questions , the end of the paragraph is given as (F).
Rearrange the remaining five sentence A,B,C,D & E in a proper sequence so as to form a
meaningful paragraph and then answer the given questions.A)In terms of fiscal deficit of
the developing countries a tend similar to that of the developed countries has been
observed. However, most of the developing countries have taken measures to reduce the
fiscal deficit.B)Most of the developed countries are facing these two types of problems
leading to fiscal deficit, except for South Korea which has been both the deficit and surplus
during 2008-2015.C)Fiscal deficit is the difference between the government’s total
expenditure (both the current and capital) and total revenue receipts of the government. It
occurs either due to deficit in revenues or increase in capital expenditure .D)Fiscal deficit of
India , for instance , in 2008 was around 10 percent of total GDP which reduced to less than
7 per cent in 2014.E)On the other hand, unlike South Korea , United States has fiscal deficit
of its GDP during 2009. One reason for this huge deficit can be due to the global financial
crisis which started US in 2008.F)However , despite this reduction in the deficit , the total
surplus a percentage of GDP has declined over time .
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I)C)

II)D

III)B

IV)E

V)A
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I)A)

II)B

III)D
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V)C
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I)E)

II)B

III)D

IV)C

V)A

14. Which of the following should be the FIRST sentence after the rearrangement . *

15. Which of the following should be the SECOND sentence after the rearrangement .
*

16.Which of the following should be the FOURTH sentence after the rearrangement . *
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I)C

II)E

III)B

IV)D

V)A

1 point

I)E

II)C

III)B

IV)A

V)D

17. Which of the following should be the THIRD sentence after the rearrangement . *

18. Which of the following should be the first sentence after the rearrangement . *
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a. BFACDE

b. FDABEC

c. FABCDE

d. CDBAEF

1 point

a. BCDEA

b. DABCE

c. DBEAC

d. ACBDE

19. A. In India, in the last 4 - 5 years, some US funds have entered.B. US funds like
draper and Walden have played an important role in kick-starting the venture capital
industry in India.C. Draper in particular played a pioneering role.D. This was the
second wave of venture capital.E. The third wave is people coming back from the US
and moving into venture capital - like myself.F. Venture capital started about 15 years
ago, with some government – backed funds. *

20. A. The first is retained by employers to find specific people for specific jobs.B.
They are the consultants who advertise in this newspaper.C. The other type of
recruitment company – or agency to be precise – works on a contingency basis.D.
There are essentially two types of recruitment companies.E. They are paid by the
employer only when someone is appointed. *
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a. EDBAC

b. ECADB

c. EABCD

d. EBCAD
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a. EADBC

b. CFEDBA

c. AFCDBE

d. FDABCE

21. A. A number of lessons were learnt and lot of preconceptions forgotten.B. First
World War was thus a prelude to even more destructive war.C. Many weapons used in
the war had never been used before.D. As an after math of war, there was a savage
intensification of research in armaments.E. The First World War was an excuse to
experiment with the arsenal from various European states. *

22. A. Living is not important - living with excellent health throughout is more
meaningful.B. It is non - invasive and without side - effects.C. But the quality of life of
such persons may not be as good as one would like it to be.D. Exercise, yogic
exercise, is the only tool that can maintain health in a cellular sense.E. However,
practice of asana and pranayama needs what modern thought calls motivation.F.
Many people do not exercise and yet live to a ripe old age. *
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a. BEDAC

b. ABECD

c. DEABC

d. DCEBA
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a. BDAC

b. BADC

c. DABC

d. DBAC

23. A. Electronic transactions are happening in closed group networks and Internet.
Electronic commerce is one of the most important aspects of Internet to emerge.B.
Cash transactions offer both privacy and anonymity as it does not contain
information that can be used to identify the parties nor the transaction history.C. To
support e-commerce, we need effective payment systems and secure
communication channels and data integrity.D. The whole structure of traditional
money is built on faith and so will electronic money have to be.E. Moreover, money is
worth what it is because we have come to accept it. *

24. A. Merchants soon grew rich as the demand for products increased.B. Trade
started from person to person but grew to involve different towns in different lands.C.
Eventually, people got a greater variety of things to choose from.D. People found
work in transporting the goods or selling them. *
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a. FAEBDC

b. FBACDE

c. AFCBED

d. FBCEAD

Thankyou!!

This content is neither created nor endorsed by Google.

25. A. In fact, many city teens are also ‘friends’ with their parents on these social
networking platforms.B. While these numbers may not be same for India, an
increasing number of parents in the city are signing on to social networking sites
frequented by their children.C. However, parents should know where to draw a line
when it comes to communicating with the child on social network.D. Parents should
not admonish their kids for every silly status they put online.E. Similarly, they should
not step up in defence of their kid every time he/she receives any unkind comment.F.
According to a study conducted in the UK, seven in 10 parents turn to social
networking platforms to communicate with their kid. *
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